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Student: Instructor: Alfredo Alvarez Assignment: —ﬁ}‘—;
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1. Solve the quadratic equation by factoring. - 76 ’_/ Z{ po O W(y wrj L(
2-7t=18 (éT Z) - 15 -0

The solution set is { b, €17 =0 04 -é i ¢

§T 019

(Simplify your answer. Use a comma to separate answers as needed C? /, é c:?/,_f_

e €122 <
| (’é~*‘“w0ﬂ<f_jf‘

ID: Quick CheckPF49 .
—— e N S
- \_____\_ —

2. Solve the quadratic equation by factoring. 4‘ j 7"/ 0/ -+ 3~ 57 -f— (¥ = O Vewrie

4y +10y+3—3y -18 \j < /Uj '("Z,‘ }‘705?((\\\

2l

Thesoluonsetis { ). ( QJ o+ 7) = 0 3 7 p

(Simplify your answer. Use a comma to separ answers as need |
o 9T = U

-9 - '(L}:O e o e ) = v
Answer: -3,-7 7 = , j 7/U 7 i

ID: Quick Check PF.4.10

3. Usefad ring to solve the ei_;en;Iale uatnon_ — &’—36 7“ / "-
Ws¢ );’ﬁgg ﬁo 4 ‘g\{fiblfﬂ 9 ¥ _ 5")( *3)6( /% % /7()(7’(5)()("6)'* >
X3 = 4x2 + 144 = 36x /f"’ Can o _/%f/
NFG =0 o1 A~6=

&

] The solution set is .(Use a conlma to separate answer‘g as needed. )C} v

MSe Sanhrdic X000 ¥ 4+u)( ~2¢ = 2 NrG-6T06 0/4'(~6wa(
B AEv!.er: -646 I W -

il qipratlin > K367 Ciifi/&ﬁli:>

ID: Quick Check PF%\H:E ’(_\7()’1-— ﬂ V,.\J _gwfwf
V"7, & [ =7C =% — <l il i
H?.rtp?l.,equ%ilulév\ C/'ZJ ? /7 L;f ﬂ"ﬁ' o F’JJ ]

v il
4 4 +x% - 16x-4=0 > ¢ _t¥ t&!i’l \
X C > lass b&q 7,14, ¢ I

The solution set is |

(Simplify your answer. Type an mteger or a simplified fraction. Use a comma to separate nswers as needed) [/ ./ ‘j
71, + 4T /"

= 2' Ly < 7 +9 12, il L

Answer: 1 378 /1’ -7 —_7 . = =
4 T == a V’) wo 4 I

Us 57.7//;_(]‘( J\V’IMI\ C'/_ ' @—) > !
ID: PF.4.39 AA T =0 l 21 ‘22 ﬂ,/‘r M‘
Sxrf—( o= _' | #

“Bof3s

o
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5. Find the domain of the function.

d f(x) = 4/5x - 45

The domain is L (Type your answer in interval notation.)

Ansyver: [9,00)

ID: 1.1.59
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6. For the given functions f and g, complete parts (a)-(h). For pa_rts (a)-(d), also find the domain.
()= 3x + 8; g(x) = 8x - 9 (/f)l’*d 8
(a) Find (f + g)(x). ‘r/,-d -t _//’?/ = C JdMa ¥ ‘w)

3 —

Fx- =
(f+g)(x) = (Simplify your answer.) (} Xr d]) j / X ¥, (.-— Q(Z ()0) S
” 5 i p—y :_ _./-‘{
What is the domain of f+ g? Select the correct choice éelow anr{ if necessary. fill in the answer box to complete-your
choice. < //X"" //

A. The domain is {x| }.
(Use integers or fractions for any numbers in the expression Use a comma to separate

answers as needed.) L —a ) ,() ”
B. The domain is {x| x is any real number}. (/ J) j ‘\“ﬁ
pq — JGA) * ) (o (ST
(b) Find (f- g)(x). : g )
- y 9 —(7« ~ 5
(f-g)x) = (Simplify your answer.) (3 Xt ) ( 1P (X/

AT —7XKTT = .

What is the domain of f— g? Select the correct choice below and..if necessary. fill in the answer box to complete your

choice. C $x +{ 7 = \

(7 A The domain is {x| 3
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (‘/ﬂ ()) ()/// -

B. The domain is {x| x is any real number}. /- - )
Hx)e GG

(c) Find (f+ g)(x). : : I =N
-3 GrrO(7x~)

(feg)x)= (Simplify your answer.)
_ 2yt —27X +6¥X — 72 =

What is the domain of f - g? Select the correct choice below and,.if necessary,fill in.the answer hox to eorfiplete your choice.

Czyy* +37x =72 )=

(_/ L/'

fd Yha (,;, \h\b

r2m) )

A. The domain is {x| 77777 }.

(Use integers or fractions for any numbers in the expressmn Use a comma to separate

answers as needed.) - . 4{ A Z ;(L— ﬁ" =
B. The domain is {x| x is any real number}. ( y)d j)(}—‘{”f g ¢t 7

(d) Find [é](x). /6(1) — 7 X< 9
e (= 1
(LJ x)= (Simplify your answer, Z){'ﬁ]/ \} s Z j
P A — y S 9.
X~ ‘f — J “ ,-(': ,/? >
What is the domain of é’? Select the correct choice below and, if necessary ﬁII in the answer box to Mete your choice. 07
A. The domain is {x| < f‘/)[B) ” (= ’ TORY i 'Jf

(Use integers or fractions for any numbers n the expression. Use a comma to separate e .

eyl =V

B. The domain is {x| x is any real number}. — . 5 . )
/7?;) ()=32 )

( _

30f35 12/9/2019, 10:43 AM
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(F+0)(3) = (Type an integer or a simplified fraction.) ( / o y/// - —=SxX 17

= O Fnd (-0, (/f))(a/)— ¢ ) 717
(f-g)4)= (Type an integer or a simplified fraction.) é, = Lx —éu ’f'_/ 7
(9) Find (f+9)(2). C_L___ 9) (¥) < -3 \\

(f-9)(2)= (Type an integer or a simplified fraction.)

(F-3)= 29X 374072

(h)Find[ ](1) /:/)(2,) 29(2)t ~+370() 1T

(é]ﬁ)— (Type an integer or a simplifi dfractsor? ) 2 (?) (’Z} __ ?’/ ('2) — _/ 2

Answers 11x—1 / )(‘Z/L ﬂﬁ_f;u) /‘?/ / J
B. The domain is {x| x is any real numbef //(/)

=5x+17

B. The domain is {x| x is any real number}. __)_{i{‘-‘

X2 +37x - )/d 7K—

24x% +37x - 72 (/ ;M’
X\)"’\
%

B. The domain is {x| x is any real number}. :ﬁ -

3x+8

9

8x-9
A. The domain is {x| x#— (

(Use integers or fractions for any numbers in the expression. Use a comnia to separate answers as needed.)

32
-3
98
-1

ID: 1.1.67
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7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) = x - 4; g(x) = 9x> (/* f///';(/ : }
(a) Find (f + g)(x). //,-. } / & }c/ joh -

_(,'ﬂ((rgi),_ _()&/W)

f+9)x) = (Simplify yclur answer.) o

e X—¢ 7+ St = N

What is the domain of f + g? Select the correct choice below and, if necessary, fill i in answer box to complete your
choice. =
(C:{X — = A s

A. The domain is {x| 3.
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) % _) / / )( )

B. The domain is {x| X is any real number}. ( )
fxl —— 3

_; (b) Find (f~ g)(x). p ( Gy Z)
{ .t B —00 (V)
(f-g)(x)= (Simplify your answer L _ J 2]
_— Y=Y — G x ~
What is the domain of f — g? Select the correct choice below and, if necessary, fill in the‘a‘ﬂswer box-te-eomplete your

choice. . - — ; :
h C=dytrx=¢= 1~

A. The domain is {x }
(Use integers or fractions for any numbers in the exprassmn Use a comma to separate

answers as needed.) ( / / }

B. The domain is {x| x is any real number}.
/M lo 9] =

9 (c) Find (f+ 9)(x). (9/ 'L/) U e e \

(feQ)x)= (Simplify your answer.) = 3 6 )( e
What is the domain of f+ g? Select the correct choic al f.neceasars? fillin the answer b to_mmplefe your choice.
X/~
A. The domain is {x - } q X 7‘; O

(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.) Z (,)(/ W 4)/2
—

B. The domain is {x| x is any real number}.

9
o X
(d) Find (é} ). - )(-_ >L,// ; )(/L; c(/—a
- X
[ J(X) _ (Simplify your answgr.) ‘ixL 2 )( O
L\ n,\ [ X’-}t () \

f
What is the domain of E'? Select the correct choice below and, if neces ry—ﬁlhn tmram_t_cu'_c:omplete your choice.

.£ + 9 )x qgx .=
A. The domain is {x } (" ?)/ ] .f )( S/
(Use integers or fractions for any ‘numbers in the expression. Use a comma to separate
answers as needed.) Eg f?//z) - cz“(f}) 7 (3] —
B. Thed ini i | b / y
e omalnls{x|X|sanyrea number}. , 'fj) (")) - 4(5)(3) _(,; ,,Y

Ces)(3)= T1 T2 -

tBl= §O P

Y
9
:

(e) Find (f+ g)(3).

)

e

50f35 12/9/2019, 10:43 AM
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(f+g)(3)= (Type an integer or a simplified fraction.) ( //)(/ s { )(’ -+ k’/"‘ x_/
O Find (- 9@ @—-)j(‘// “1() b 1)~ ¢
f-g)4)= (Type an integer or a simplified

;f‘ﬁ’“’)(c() —;(sf)(qw(‘r/f

d(g) Find (f+ g)(2). : /‘_/) Y yy -+ & —<
(feg)(2) = (Type an integer or a simplifie ractlo —-/ 5/ -\\/’/
(h) Find (g](z). _}/((7') y
(feak) = G — e

f
[E] 2)= (Type an integer or)?mpluf ied fraction. )

///2,) q/z) ’——)76/?)
Answers 9x° +x - 4 ((/)(Z) 7/2)[2)/2) —_— ,‘»)(; (45’)(5}

B. The domain is {x| X is any real r?mber}

-9x? +x-4 y(?/) = 7Z ,_/VS/
B. The domain is {x| x is any real nun@’/j /)(Z) = "7 Zﬁ\)

3 2

9x” — 36x _}l
B. The domain is {x| x is any real number)}. )6( C I.
//
9x (% Z, ) T ‘("—)'___ZL_,F
” A. The domain is {x| x#0 b ) 1 /Z Y [~ &
(Use integers or fractions for any nurnbe he expression. Use a comma to separate answers as needed.)., L
ao ) R
- 144 ( 1X2)
-72 # _ ]
. N0 ¢

KT ﬁ -

ID: 1.1.69 (j (L 2(/ D_L__ o o

. f(x + h) f(x)

Find the difference quotient of f; that is, find ——— h#0, for the following function. Be sure to simplify.

f(x) = X2 -7x+gﬂ*h) 7//(1‘4)7‘"?) ’“()("7:(»1“‘7/ -~

N ) oh) <77 XTI

v L o
. ) /‘ . ,__)( —(—’7)(,.. g as
Answer: 2x+h -7 {& ()(2’\ I h /;) ¢ = )("'7A T -

ID: 1.1.83 _Z;(A*f” If)&”’]/} i 'c’.;’ll_ hL ___ }:
A 1
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9.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

( e3/‘:"539.

No

"]

any answer boxes within your choice. 'f /( Vish S -
() g 7 ) b{}"}‘k)‘ = y 7(} !;)

Q A. Th{dor_r;nls (‘/'/ /’j é{f’(a}g—eus /‘" &2, éz &

(Type your answers in interval notation.)

If the graph is that of a function, what are.the domain and range of the function? Select the correct choice below and fill in

B. The graph is not a function.

What are th mterdeptE? S?Iect the correct choice below and fill in any answer boxes within your choice.
F, L _'(,_,ﬂ [(,/M = _ ) ,.4/ .
. = . 7 i Hecg) f-
A (—2,0) (7,0, /0 G )
/ / /

(Type an orderedxé)ir. Use a comma {o separate answers as needed.)

_»’i-’_‘ﬂ

B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

A. Itis symmetrical with respect to the x-axis.

S

(_ﬁymmetrical with respect to the y-axis. \";
C. lItis symmetrical witli respecttotheorigin,

D. The graph is not symmetrical.

E. The graph is not a function.

Answers Yes

A. The domainis (—o0,00) . Therangeis (= c0,6] .(Type your answers in interval notation.)

A. (9,0),(-9,0),(0,6) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21

7 of 35 12/9/2019, 10:43 AM
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10. Using the given graph of the function f, find the following.

(/ -;:\ . The graph is not constant on any interval.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

¥ / = |
W w4 .
(a) \l}ét are t(mterce;it‘s?/ 1 AN b A "7 —l= Ly 4 £ & Lt J \

i g L}) (/ L)/) (’(_,:) /) g V\/\l}{ﬁ/)./;/
gsmphfy your answer. Type an ordered pair. Use a comma to separate answers as needed.) ‘/ 2 ¢ '

(b) The@mls J—’%I 3 ; (/[/pﬂ rioA }j //‘ ¢t
(Type your answer in interval notation.)

therroel |0, [ € [ buffom, 700 (
(Ty yo(answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graphis @n L/‘"Z/ O:Z ( / 3
(Type your answerin interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice. ]
o o lj
A. The graph | decreas: &_ 3 ' ?“j ( )

(Type your a rin mterval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notatlon Use a comma to separate answers as needed.)

Y

(d) The functionis (1)

(1) O odd.
<__neitherodd noreven,
even.

12/9/2019, 10:43 AM
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Answers (- 2,0),(1,0),(0,1)
[-3.3]
{0,1]

A. The graph is increasing on  [-2,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on  [-3, - 2],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25

9 of 35 12/9/2019, 10:43 AM
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11. The function f is defined as follows.
~3x+4 ifx<1
f(x) =
2x—-1 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

T~ A : - ”,
9 (a) The(domain.of the function f is / '>‘/: (:.-//} < = /4” £
(Type your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A, ﬂ(é/ir:liergepﬂé) is/are L( (}?, C() .
s

(Tyﬁe?éﬁ ordered pair. Use a comma to separate answers as needed.)

Vight')

3

() B. There are no intercepts. o

(c) Choose the correct graph below.

(d) The range of the function f is L 5')«’_'.'-’) & @) Flon

(Type your-answer in interval notation.)

Answers (= 00,00)

A. The intercept(s) is/are (0,4)
(Type an ordered pair. Use a comma to separate answers as needed.)

AL
: A N .--\‘-\
T ey 'j(%mrv; ~ /L

= 0l . X/},V\c_\/’: / L.
110 g~z (2

ID: 1.4.33 t.) _ - T / o) ,;//

/,/' » (F i o Q‘ﬂ’(_;n,

Y =3 X T e (XS |} &

— = Sty Mihh C /

g, = o & (20l
x

10 0of 35 12/9/2019, 10:43 AM
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12. The function f is defined as follows.

3+x ifx<0
f(x) =
X2 ifx20

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) Thxﬁ’mam’ofthe function fis ,~ e )é’—‘ (/,/1[ /s { )

(Type r'answer in interval notaticn )
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The @?{s) istare =) ( :O/ <)

(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts. e |4

(c) Choose the correct graph of f(x) below.

(d) The ginge of the function fisgf <2 (56"‘.)
s BB —
(Type yolur-dnswer in interval notation.)

Answers ( - co0,00) —
A. The intercept(s) is/are = (-3,0),(0,0) . L R

(Type an ordered pair. Use a comma to separate answers as needed.) ' /\ 6 () ‘\

Y, \ \

ID: 1.4.37

(S(
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The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x) =f(x) +2 (b) G(x) = f(x + 3) (c) P(x)= —f(x) .

1 g
(d) Hx) =f(x + 1) -3 () Q) = 5f(x) (f gix) =f(-x) ;
(9) h(x) = f(2x) i

(a) Choose the correct graph of F(x) =f(x) + 2 below.

(b) Choose the correct graph of G(x) = f(x + 3) below.

r -f.

1
(e) Choose the correct graph of Q(x) = gf(x) below.

12/9/2019, 10:43 AM
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(f) Choose the correct graph of g(x) = f( =Xx) below.

A,

(@) .C!joaae-th&g%ct graph of h(x) = f(2x) below.

'\] \ B.

13 of 35 12/9/2019, 10:43 AM
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Answers

ID: 1.5.63

14 of 35 12/9/2019, 10:43 AM
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14.
(a) Graph f(x) = |x + 7| - 3 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

ﬁ (a) Graph (x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is _square units.
(Simplify your answer.)

Answers

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay
101

ID: 1.5.81

15 of 35
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774 - /’ Ll Y {/ —

a= =y (
15. Find th{ zerosg, if any, of the quadratic function uélng the ¢ Jirattc formula\ What are the x-mtercepts, if any, of the graph
of the fu 2 [y A i - > ) T o “
= b ¥/LF i _ () 7 ) Corpn ~ ¥ YT+ 3L

— — V) g ) - T3
9 f(x) = 8x2 -1+4x 2y 2(7) (G

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) - =& V‘f" 5 v
The zeros and the x-intercepts are different. The zeros are , the x-intercepts / G
A. —
are . — o P
= Ik 3
B. The zeros and the x-intercepts are the same. They are . - /¢

C. There is no real zero solution and no x-intercept. Cop ey I
~Y Tyre 2
1445 1= ¥ S
B - < 5

4
O/ . i G
- TLJ \\‘ ¥ —1tlvz -
e (/ =f | ' /:/é e E Kgf(z;l(;z )

16. Find the real'zerog of the functlon What are thQ-intercepts of the graph of the function?

Answer: B. The zeros and the: x—intercept's are the same. They are

-
N

P iz Ak ATV = O

Select the correct choice below and fill in the answer box to complete your choice.

A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

B.
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 4
X—VUx —2 = O \
ID: 2.3.75 ¥ —2 = (/;(“ Vot v __[_L./
()(f—L)L:UﬁZ) £ s X éo Ll Sl
Q{~—¢) (xJ~c) (x)
=l x—=+Yy = X
Z -
X~ —Y x—+ 9 =x
XE —¢x 9 (= O
18

C —sX +yv = O
(K — 1 )UX~Y

16 of 35 12/9/2019, 10:43 AM
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( Yﬁ( = C\}/{’ X—/ —
| Y~ ~ (7Y #£] O X-y+v=ury

|
_ on @ (:A el
o @D

-
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/
For the quadratic function f(x) = - x2 + 8x, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

-
down =20

up
What are the coordinates of the vertex?

The vertex of the parabola is ;

(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x- intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis i
(Type your answer in interval notation.)

The range of fis L
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

18 of 35
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,.-{f"f‘f%"“t/ O / Ls OCCe 19 A

Answers down ’ ) I ’%
(4,16) S ) | . S «b« JU hesth /
xX=4 AN | - /

204"
16-
12

8

{nbiendp;0) *

T T T
20 <16 <12 B -4

(- 00,00) \)\J \4(&)““%*" —

(- 00,16]

(=004 e ‘/V\\’)
[4,00)

ID: 2.4.35
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bl
W
-~ For the quadratic function f(x) = X2 - 2x - 3, answer parts (a) 20-

through (c). )

16-

(a) Graph the quadratic function by determining whether its {2
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. F;

Does the graph of f open up or down? A

up 20 16 12 8 4 1 4 & 12 16 20

down

What are the coordinates of the vertex?

A2
The vertex of the parabola is i
(Type an ordered pair. Use integers or fractlons for any -1 G-'_
numbers in the expression.) 1

20~

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function,

The domain of f is
(Type your answer in interval notation.)

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

21 0f35 12/9/2019, 10:43 AM
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5 Y W b Ses Mf“ﬂ\

Answers up (A I

5 L /S L v s 6/ !v :
(1,-4) A ; ‘ £ ? /JM
x=1 £h—

>0 ki C&J (A ) Z/ }’W( HC B

A. The x-intercept(s) is/are 3,-1 ‘ C ) &} 7 — 2K
(Type an integer or a decimal. Use a comma to sep Wﬁé‘éﬁ%{ ),7 )/ = /S
A. The y-intercept i is .(Type an integer or a decimal.) / /
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23 of 35

For the quadratic function f(x) = - 2x2 +2x - 1, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis
(Type an ordered pair.)

The axis of symmetry is i
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of f is \
(Type your answer in interval notation.)

{c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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5 VA S e t /é‘

Or f/i'f"“(? LJ) 7“/ Jc% G fle~

’ 5>t / ‘s,

(1) O down.
) up.

Answers (1) down.

b4

K
X=32

A. The y-intercept is -1 .(Type an integer or a decimal.)

B. There is no x-intercept.

Ay \{V\ (/d\

TUj

1y
V,/Licf

\r“\‘ L
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20. Determine ({u\thout grapnlng, whether the given quadratic functlon has a %w v‘hlue or a minimym value and then find
the value. :/' Y7 {)‘_, - ur—{ }’}7 ﬂ‘g g jf/ . C)/?é—u) WL g SO
" < h A
a f(x)——Sx +30x-8 *’) V}% Q} b )/

Aaz=3, bz=139

Does the quadratic function f’have a mmlmum value or a maximum value? ( )
(_! The function f has a minimum value. /ﬂ’?g\{ - l/"“/l/ = 36 "2 )

() The function f has a maximum \{;aluﬁ ( ﬁ_‘i / in) )) / —

What is this minimum or maximum value? 7 (%) 2F3)

s VA = (22 ) (5,60
Answers The function f has.a m |m(u;nLv/a$Lfg : (S“/ 7//57 0
67 f/‘”’l (& —3(57) *’F 30(5) Y

ID: 2.4.59 ‘//L'{( ( S = (5)/5‘) -+ 39(s)—d)
‘/Wl’/ —( & s flco—F)

'\—I—EA_ - Vi
Find th¢ vertical, orlzontal an@bhque asymptotes if any, for the following rational functio ;
Z J 7[/..) 3y D

4 16x /».// V’f"/foh/ é)/w/zﬂvl( A
R(x) = Ko =

Select the correct choice below and fill in any answer boxes within your choice. /( N & —0—s

= 4—‘ —ﬁ

(! A. The vertical asymptote(s) is/are x = — VY ( et ( X
(Use a comma to separate answers as neefled.) a S M}_’ZI/ '((._ s
() B. There is no vertical asymptote. -

Select the correct choice below and fill in any answer boxes within your choice
1v f( Juwebs

P}’j v’L

A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed ) /

_» B. There is no horizontal asymptote. __Lé z

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y =

(Use a comma to separate answers as needed.) il 'f ’ _/é—’x

B. There is no oblique asymptote.

)

,,_“/_,?_U/{J-\J-\J‘_ f G 57”/14/,4;J//

Answers A. The vertical asymptote(s) is/are x = -5 .(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 16 .(Use a comma to separate answers as needed.)
B. There is no oblique asy ptote ‘ . i
- T2 }}11) st fr e 74 -4// /3 S )
3445  as A Shegt  fonss g bkt LA, 4/4//,’ ]
(s 770 0’—/;/ ‘A &S 7 h/,’/ 74// ;r

v/—r‘_/— =
25 0357 .

12/9/2019, 10:43 AM




finalm1314COCO035sulllljjRZZ35Z-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

22. For f(x) = 2x + 1 and g(x) = 3x, find the following composite functions and state the domain of each.

(@ fog (b) gof (c) fof (d) gog

4 (a) (fo g)(x) = (Simplify your answer.)

26 of 35

Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of fogis {x | >
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o g is all real numbers.
(b) (g o f)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of g o fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain offofis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o f is all real numbers.
(d) (gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. Thedomainofgogis{x|  }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o g is all real numbers.

Answers 6x + 1
B. The domain of f o g is all real numbers.
6x+3
B. The domain of g o f is all real numbers.
4x+3
B. The domain of f o f is all real numbers.
9x

B. The domain of g o g is all real numbers.

12/9/2019, 10:43 AM
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ID: 4.1.23 TasiA |

@ /(;(z it | ond jfﬂ) éﬁ
(/)/5()3
A 56) = h
£(3<) ° Loc °)
2(3. )—*f =

@ nbmm
(D)L, /g(@/\/ﬁ{/ 5097 3L

01[)/%)’
)
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%
C, /The function f(x) = 12x - 3 is one-to-one.

(a) Find the inverse of f and check the answer.

(b) Find the domain and the range of fand f_ '

(c) Graph f, f~ L , and y = x on the same coordinate axes.

-1
@f ()=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

-

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

>
}
}

The domain is {x|x s
The domain is {x|x #

The domain is {xlx 2

© 0 ® »

The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

3
).
).

The range is the set of all real numbers.

The range is {yly >
The range is {y[y #
The range is {y|y <

o 6o w »

Find the domain of f 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

A. The domain is {x[x > } )(’f -~
"'—d_.l_F——‘_._
B. The domain is {xlx;e - ,,}- - /’L'
C. The domain is {x|x < b = } T
D. The domain is the set of all real d o~ J \>
numbers. ,f”if_ﬂ - S
Find the range of f . Select the correct choice below and;-if—— "= )( of .

necessary, fill in the answer box to complete your choice.

-

\j £ b
A. Therangeis {y|y;»e ] } ¥ J"’K) V/’/}L
B. Therangeis {y|y2 } = / —— )( } ' N
C. Therangeis {ylys } Y / . - \
D. The range is the set of all real numbers. .7’ )(
(c) Graph f, f~ ! , and y = x on the same coordinate /axes. Usé / Z/
the graphing tool to graph the functions.
i

29 of 35
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x+3

Answers 12 —-s—»\»
~ /

D. The domain is the set of all real numbers. o \ ,L %/

D. The range is the set of all real numbers. i ————

D. The domain is the set of all real numbers .

D. The range is the set of all real numbers. \ L){ .

@H] A L/ ‘A'
20

ID: 4.2.53

o —

I s——— —==s
24. Solve the equation. "Kf’LZ 7 X
a 16X *22 = 128X () ) Z/S/Y/ )
The solution set i |s Z(_‘/(’ 2—@

(Type anintegeror a sumpliﬁed fracticn Use a com tc sep rate answers as needed.)

T«

Answer: 8 2 - ﬁf
104373 - :"V XA 5] - 77X
— X Jg AT~ T

=i = Tk —F]
o = f = 7K~ T TS

—Jix =—7%
_NA_ —TE

e R

X= Y
300635 : 12972019, 10:43 AM

———
x;
2
~
=
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25. The percentage of patients P who have survived t years after initial diagnosls of a certain disease is modeled by the

function P(t)—100(0.5). ﬂ(/) /OO /& Y )

(a) According to the model, what percent of patients survive 1 year after ini ial-diagnosis?————— ——_ “/Lg: =
’ C

(b) What percent of patients survive 3 years after initial diagnosis?
(c) Explain the meaning of the base 0.5 in the context of this problem.

g (a) According to the model, 1% of patients sun:ivéj year after initial diagnosis. _ r4
(Type an integer or a decimal.) p/é Z/U D) (d’ S_)
q (b) According to the model, % of patients survw? years after initial diagnosis.

(Type an integer or a décimal.) /’9/3) - /C}O /J S)

(c) Explain the meaning of the base 0.5 in the context of this problem. Select the correct choice below and fill in the answer

box to complete your choice. //3) /0 O (f < ) 4/3/

A. As each year passes, % of the total patients have s / . / Z f o ,(\
B. As each year passes, % of the previous survivors ta e dlagloms C" =
C. As each year passes, % of the previous year's survivors have survived.
Answers 50
12.5
C. As each year passes, 50 % of the previous year's survivors have survived.
ID: 4.3.109

26. Solve the equation.

9 log ,(4x+3)=4

(Type an equation. Do not simplify.) Q - }( -+ 3
The solution set is { } —
(Simplify your answer. Use a comma to separate answers as needed.) 2 d Z 2 S& )(’7[/5
Answers 4y 4+ 3=2% /é 4 S/)("( 5
4
[3TFL

ID: 4.4.91-Setup & Solve
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3z/0C ., | |
27. The formula A"‘k . /o 6'_0' 74 D /ﬂ}) z —(e %4 L-.
.-Q D=10¢ ~04 < TS " '

| can be used to find the number of milligrams D of a certain dyug that is/in a patient's bloodstream h hours after the drug
was administered. When the number of milligrams reachg the drulg is to be admmlstered again. What is the time

\

between injections? 3 - Y /L ( 2 ) - d. ‘/6 \
The time between injections is hour(s) —0U,
(Type an integer or a decamal rounded to two decimal places as ngede
O o M RO 1
Answer: 3.01

,&»/ %)= —094,@75’2/ @x_—g g//?m/

ID44125_/£?\( )= 0. (”4///

28. Wirite the expression as a sum and/or difference of logarithms. Express powers as factors

—) .og{*‘*””],,,o 750) (X (xrs)) — Lo {(f/ ==
Loy (K)+lus (xrs)— Lo [X-r‘/)g_

log X(X+?1 = Simplify your answer,)
LX”) J C Cuﬁ/é&/—rdu«. (X#s)—/[] Lo 6(7"7) \5
_—__-‘\——-—_______

Answer: log x + log (x+5)-11log {x+ S —

Tl 5 Los (Bl LofB)
ID: 4.5.51 Q('US Wﬁ‘/"' ({_,.j /) ——f-c’b L(f)’ A

29. Solve the logarithmic equation. Z()j (/)//l/‘f‘z /) z &(y
e log x+ log (x +21)=2 ﬁ // 2 )(( y
& X/

Determine the equation to be solved after removing the Iogarlthrn

JU0 = ¥ErixX
(Type an equation. Do not simplify.) O £ )(,L ~+2/ )( —J o

Select the correct choice below and, if necessary, fill in the answer box to mmpﬁate your choice.

-_ 0T (= $)1
(/A Thesolution setis { b o
(Simplify your answer. Type an exact answer. Use a comma to separate answers as_—~

needed.) Y~ =0 Il Nflr=
7 B. There is no solution.

Yyt =0 S 0% )(»rZJ’FCri()‘Z;

Answers x(x +21) = 102 Q(:_C// i

A. The solution set is { }
T. 89

(Simplify your answer. Type an exact an

8 comma-le- Se)Parate answers as naﬁj—’ _—
(9) #os (Y+i1)
£ 5(({/+/ 2e)= 7 6_0\)/

Z(/j (" s/"‘(‘(u "ZF—FZ//Z
320f35 Coj (-——( r/ '_f'(U(fg ' “\ : 43 AM
> TP CBAD B

ID: 4.6.17-Setup & Solve




finalm1314COCO035sulllljjRZZ35Z-Alfredo Alvare ﬂ /ﬂ( { e 1 )ﬁ/ Z\\‘ https://xlitemprod.pearsonc g—cbﬁ}?pﬂvl;’pnnb’math
P 200 \\
30. Find the amount that results from the given mves SRS
f""*x\ V / / J{/ - / /
a Cogfmvested @,%,.compounde uarterly aﬂar a peﬂo@eafs 4{ 1
- (v) :

ft tsin$_ , = o< L
After 4 years, the investment results in .

(Roundyto the nearest cent as needed.) ? Ei Z C‘LJ (f'_f it ) = L/ ;7’ s J -"/
Answer: 308.70 A A Z QO [~ ':{/,)(G 0*/{ .»
ID: 4.7.7 (/7;1 3073, 7 ol 4 (?/7 7 /4

f-_—__?__,—__—"__-'f___

_%31 How Iogg_gggs_[gtake for an mvestment@; in value if it is invested t11°//pampounded onlhly?' Q/ mpounded/ B \
[/~ O eantnuoualy?_ A=p(1+£) = A1)z ﬁg::()m S Z = N

l
J At 11% compounded monthly, the investment d bles in about years 20 < [0 C:" N" (
(Round to two decimal places as needed.) ﬂ?(ﬁ) - /2 _‘-/ﬁ ( [+ L FI e €, ¢ 'II
Z oo / At 11% compounded continuously, the investmen doubles in about years. = .-71-;""“
/ ' (Round to two decimal places as needed.) /?_é\\ 2 //"f AL
(” ZﬁO’&/UJ//'r 4/( \/Z—'/) /24/2 f& ZZ 6 ;,//(

1z
Answers 6.33

PSS s

630 7uv = /\'&(}L} '

_ 7

D:4735 o= ("T“r'—'- :

-"‘"---._.___.._—————

32. How many years will it take fur an initial investment-of $50 000 to growito $75 000*? A ume a rate of mtereﬁ% -

’i compounded conhnuously [

It will take about years for the investment to grow to $75,000.
(Round to two decimal places as needed.)

Answer: 20. 27 A /(0 /( L0 2 ,é /

= (J—-f)
ID: 4.7.41 7)00‘ SU QZ—L/@ .,u.»\(

T s o | ol £
¢ U, 0O SYpo
/ Ry

[.5=C

)/u(fz‘/"_f#y_giﬁﬂ-/ D
(G S3on1sdc =€ 0= myra

—

<
33 ofu}_// — 12/9/2019,10:43 AM
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33. The popuiation of a colony Of@ obeys the law of uninhibited growth. Use this information to answer parts (a)

through (c).

-L(E:I)} N is the population of the colony and t is the time in days, express N as a function of t. Consider N is the original
amount att=0 and k £ 0 is a constant that represents the growth rate.

N(ty=| _I(T ype an expres_e.iqn sing t as the variable and in terms of g.)

- . A~ | €4 7 =
(b}}ﬁhe population /oja-oniany T osquitoes obeys the law of | uninhibited growth. If there a@'?ﬁosquitoes initially and
there are/1900 aﬂqﬂ day, what is the Size of the colony anﬂ days? i /

Approximately ! mosquitoes.

(Do not round until the final answer. Then round to the nearest whole number as needed.)
o — "\ pu—— = “
@) !-ﬁw long is it until there Are Z0.00I@JUHOB‘;B o_‘\ aﬂ L( e
- 2 -_’!/_/
About [ I days.

/ - 7 k-{ _?ﬁ 7
N 17 - :
OG- ne — /
o —a € .
D:485 37 b)) q /é/ - /V@C” 24

NE) = /060C e

Answers |, ¢ kt ;}

13032

/900 = fooo & b
/500 = foooC
) <8
" U 10d €
froe  f000
/O I ;Y

/<

Lg= et
%/Aﬁ):%[f)
M ((9)< k]
u/ //* "/)f /c;



AR A =
e LT £ \5

Ul ~ 00 o
52— = Gé?/(?ff-é \- C)u‘—m{
< AT A
, C6#(7s)(9))
(%) < /00 é

#a)= [/ 308/-577% 2
%) < 13932 YT Powd
—/!

. LI
20000 = fo00 = EY17SE

20000 _ foudo C
—oo0 o
2 LEF /[
0= C
,5?//5/7

Mn20)= L&
o (20) = <67 17564

o (20)=. 68175€ (1]
%/ZJ)i L6 /TSE

6 f‘/{é’f—"—\—% -
(_4/,\5{ 735055 ¢ '
K L SR

2% )




34. Solve the system of equations. If the system has no solution, say that it is inconsistent.

4x -2y=-2
> 5x +y =8

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

A. The solution of the system is x = ~ andy=
(Type an integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{xy)x= .y any real number}.

(Simplify your answer. Type an expression using y as the variable as needed.)

C. The system is inconsistent.

Answer: A. The solution of the system is x=' 1 | andy=
(Type an integers or simplified fractions.)

7
ID: 6.1.33 /ﬁ/‘ _/é'é
e ——— s — e L} /L '

%["‘27 - e =
cx 11957

%/;-27 = =l

/()/( _(42‘7 - /6
(X 7O 17
s =1
[¢X = [¥

==

.
—

34 of 35
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35. Solve the given system of equations. If the system has no solution, say that it is inconsistent.
16

; X - 3y + 4z
2x+ y+ 2z =3

-2x+3y-3z=-13

Select the correct choice below and fill in any answer boxes within your choice.

A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= - , Z any real number}.

(Simplify your answers. Type expressnons usmg z as the variable as needed. )

C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xyz)|x=_  yany real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

D. The system is inconsistent.

Answer: A.
The solution is x = -1 Y= -3 ,andz= . (Type integers or simplified
fractions.)
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